
 

YETI XD TRACK BAR RELOCTAION BRACKET 

PART # 79017001 

 

PARTS LIST:  
• (1x) Track Bar Bracket 

• (2x) anti-Sway bar link Spacers 

• (1x) anti-Sway bar Link extension bracket 

• (1x) m14 Bolt Spacer 

• (1x) 3/8-16 x 4 x 2-1/2 x 1-3/4 u-bolt 304 ss 

• (1x) m10-1.50 X 80mm frame bolt 

• (1x) m10-1.50 X 25mm frame bolt  

• (2x) m12-1.75 X 70mm frame bolt  

• (1x) m14-2.00 X 70mm frame bolt  

• (2x) 3/8-16 nylon locking nut ss 

• (2x) 3/8 sae flat washer 18-8 ss 

• (2x) m10-1.5 nylon locking nut ss 

• (2x) m12-1.75 nylon locking nut ss 

• (1x) m14-2.00 nylon locking nut ss 

• (2x) m10 thick flat washer 

• (2x) m12 thick flat washer 

• (1x) m14 thick flat washer 

EST. INSTALL TIME: 1-1.5 HOURS  



Installation Instructions:  
1. Remove the factory front track bar bolt from the 

passenger side axle bracket. 

 

2. Loosen the track bar bolt from the driver side frame 
bracket and rotate the track bar out of the passenger 
side axle bracket. Secure the track bar up and out of the 
way with a bungee cord, zip tie or rope. 

 

3. Remove both the factory anti-sway bar links from the axle 
brackets.  NOTE: every lift kit is different and in most cases 
utilizes different anti-sway bar links. This relocation kit is 
designed to use Factory rear anti-sway bar links on the front 
anti-sway bar.  

 

4. Place the new YETI XD™ track bar bracket over the stock 
axle side track bar bracket. Slide the M14 spacer inside the 
bracket where the original track bar bolt hole was 
located on the stock bracket. Use the supplied m14-2.00 X 
70mm Frame bolt, M14 washer and m14-2.00 nylon locking 
nut to loosely bolt the bracket to the axle.  

 

5. Insert the m10-1.50 X 25mm Frame bolt into the hole on the 
right side of the M14 bolt on the bracket and loosely 
secure it in place using a M10 washer and m10-1.5 nylon 
locking nut. NOTE: You may need to hone the hole in the factory 
bracket.  

 

6. Install the m10-1.50 X 80mm Frame bolt into the hole on the 
left side of the M14 bolt on the relocation bracket and 
loosely secure it in place using a M10 washer and m10-1.5 
nylon locking nut.  

 



7. Install the track bar into the new relocation bracket. 
There are two holes in the top of the new bracket. Use the 
lower hole for a 3”-3.5” lift and the top hole for lifts that 
are more than 4”. Re-use the factory track bar bolt and nut 
to loosely secure it in place.  

 

8. Tighten the lower three bolts that secures the relocation 
bracket to the axle. Torque the M14 bolt to 125-135 Ft. Lbs. 
and torque the M10 to 40-50 Ft. Lbs. 

 

9. Tighten the bolt that secures the track bar. Torque to 125 
Ft. Lbs.  

 

10. Install the u-bolt around the axle tube and through the 
driver side of the relocation bracket. Secure the u-bolt 
using the 3/8 washers and 3/8-16 nylon locking nut. Torque 
them to 25-30 Ft. Lbs. 

 

11. On the passenger side of the axle, install one of the anti-
Sway bar link spacers between the stock anti-Sway bar tab 
and the side of the track bar relocation bracket. Place a 
m12-1.75 X 70mm frame bolt through the lower hole and 
secure in place using a m12 washer and m12-1.75 nylon 
locking nut. Torque to 85-95 Ft. LBS. 

 

12.  On the driver side of the axle, install the other sway bar 
link spacer and anti-Sway bar link extension bracket to 
the factory sway bar link tab. Place a m12-1.75 X 70mm frame 
bolt through the lower hole on the extension bracket, 
spacer and factory tab. Secure them in place using a m12 
washer and m12-1.75 nylon locking nut. Torque to 85-95 Ft. 
LBS. 

 



13. Attach the driver side anti-sway bar link to the top hole 
on the extension bracket.  Torque to 75 ft. lbs. 

14. Attach the Passanger side anti-sway bar link to the top 
hole on the Track Bar Relocation bracket.  Torque to 75 ft. 
lbs. 

 

15. The Yeti XD track bar relocation bracket has two 
optimized mounting points to relocate your steering 
stabilizer. (1.) If you are using our YETI XD Tie Rod you can 
use the side tabs that are located on the driver side of the 
relocation bracket. (2.) If you are using a stock tie rod or 
some aftermarket tie rods that do not offer additional 
differential clearance, you can use the mounting hole on 
the face of the bracket. 

 

16. Install the steering stabilizer using the hardware 
included with your aftermarket stabilizer. Refer to your 
steering stabilizer manufacture for installation 
instructions and torque specs. 

 
 
 

Torque Specs: 
 

• U-Bolt – 25-30 FT. LBS. 

• M10 Bolt – 40-50 FT. LBS. 

• M12 Bolt – 85-95 FT. LBS. 

• M14 Bolt – 125-135 FT. LBS. 

	


